EARAROBEEIERT — 2 N— IBISH —F 20185F8A31H (£) 11HEHMH6A

m C2— ¥5%3®t ESRE R
[AE4£] 1% :350,000 " ~ 23%&:98,000H" 33 :49,000 437 :35000 M .~ 57&:28,000H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
R = - HEHMNE :30. 20— . — WEES (EE
alglvvemrnas B7 e 1(3_0)3 2-2-2-1 | 38.6 7 (4;2) Qi%ﬂz
YR T4 T B:OxZ e 45035
EREE :30. —5-3- . — R R5A (EM)
5 6l 77 1v—7-o2 H o4 o 1(33?)8 5-5-3-2 | 38.6 1 (4_839) ot
RN—5—2y T B:TLLT1TLRE HET7— L
N . o7 | AU 1:31.1 1-1-1-3 | 39.4| — 5 447 | BAIEER (FEE)
3lgl1p V/N—a>H¥—+ 54.0 (1 3/4) (-5) | PHERA
R:YIRG4 75X B:FIL XA B
SR AEE : -3-3- — RIRK (ER)
4 ol EHZ KLY b i 4 S 1(.33/14)2 3-3-3-5 |39.3 4 <4+220) e
:d—IRAqMO— B:NLYFN=FK KEHS
. N TEE 231, —4-5- . - HFHE (EE)
518l A1YamTLET 4 550 Gy | T @2 2l |
RiF/ T4 BAA—RZAR=—LT=7 e
R i e 31, e 9] — EEXE (FE)
6 NEET -y o4 B 1(311)4 7-7-8-7 | 38.9 6 (4+616) £ .%;—
B4 TATv— B:FR-— HET77—L
N > 4 o6 | EEKX 1:31.9 6-6-6-8 |39.6| — 9 458 | FEBAME (EMA)
71111 AAh—-Ly bAOT> 56.0 (3) 1) (B) MEKS
L:Jdrp—=3U7> BV« —2ATLR TREN S
. FHEH— : -9-7— — =AkRYS (EM)
8 NEZSVERR o4 B 1.(312).1 9-9-7-6 | 39.4 3 tg;t mm%g
R:ZARM)—hE>ZX B:OAYILHES H—L— - JvX> - T7—LARS
4 g | NERF 1:32.1 10-10-9-9 | 39.2 | — 8 459 | FEEEER (ER)
9(7|7|3A7ITAT7—-2R (7€) (1a) | ) A=A pEE
L:ZZXHhveR B2y —Ya21-X VAN ¢
A 4 3 | KIFFHA 1:33.2 8-8-10-10 | 40.4 | — 10 | 464 |WOE= (k)
10/5|5| FEXA—I .0 @ (-3 |EEES
L:d—IkaqfOo— B:FvI04 Ny tie
® 1—F—@EBIERL
1T=7r= 10,8,(2,9),6,1,3,5,4,7
20—F— 10,8,2,9,6,1,3,5,4,7
30—4— 10,8,(2,6),9,1,4,3,7,5
40—F— 8,6,10,9,2,4,3,1,7,5
[ N5
B 8 2,090/ 714K 6-8 600 e E 6-7 1,310 JEE 6-8-10 6,610
B B 8 560M 8-10 1,640H B = 6-8 2,140H EE 8-6-10 62,000/
6 1504 6-10 670M B H 8-6 5,820M
10 360M

ABICOVWTRDTEEERROODE. TR LIV,




